A O UG -130

33
VI Semester B.A./B.Sc. Examination, September/October 2022
’ (CBCS) (F+R)
(2016-17 and Onwards)
ECONOMICS
Statistics For Economists (Paper — Viii)

Time : 3 Hours Max. Marks : 100_‘

Instructions : 1) Answers must be completely written either in Kannada or
English.
2) Answer should be precise.
3) Answer of Part — A should be continuous.

PART - A

Answer any 10 sub-questions. Each sub-question carries 2 marks. (10x2=20)
IRTYTHEIR 10 LUT-TINET UB0R. TSRO WIB-BINT 2 03N,

1. a) Give the meaning of classification.
BINFeITRT @c;ﬁraiﬁaq Qea.
b) What is sampling ?
TR 0TITE0 ?

c) Find the mode for the following data.
IINS ToBnen w&@éﬁﬁg{ BOTREROWD.
20, 25, 30, 30, 30, 40, 40, 40, 50, 55

d) What do fbu mean by Central tendency ?

Beor) ot Fg 0BT 7

e) Give any two differences between correlation and regression.
ATROWOT 2308) &03LFOR §Z§J®§ C3RYTTIOR QT ﬁa@éﬁimf@ EPR.

f) Find the value of range and co-efficient of range for the following data.
3ENT TT0INN T B 59,3 0D ABOLFHR), FORIEEC0D.

21, 22, 26, 30, 32, 20, 18

g) What are the two methods of constructing index numbers ?

mwgoéﬁ%%% QEWFRIT DTBD WFOINGD OIRY) ?

P.T.O.
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h) If Arithmetic Mean (X) is 35.4 and Mode (2) is 32.1, find the value of Median (M).
©0BNEST ROORO (X) 35.4 0By wades (2) 32.1 shcmen &o5,08 (M) )
FOTIBROD.

i) Name two types of Price Index.
3¢S RRtd 08N T eszr\’e};i& PR

j) What is alternative hypothesis ?
TOIRF 0 FTBUF 0TTERD ?

k) 1fQ, =2, Q,= 6, find the co-efficient of quartile deviation.

Q, =2, Q,= 6 SR BHFFT NFUFoD FBRIRI FOREBD.
I) What do you mean by tabulation ?
TS TR 0TI 2

PART -B

Answer any 4 of the following. Each question carries 5 marks. (4x5=20)
WBRPYT3L 4 IR 90208, BEodeomd JJR 5 wosnd.

2. Construct a Pie chart for the following data.
3807 T oBNT S0 Tesx.

Subjects Kannada ~English Economics Commerce Accountancy
QRN B p2lelpTong UHFRT, TRERIR, SgZR,
Marks scored 45 35 40 45 70
TR osnd

3. Calculate arittmetic mean for the following data.
FINT T2 OBNYR osNesS :’Jma’aojaeg eﬁé_u_ To8.
C.L 10-20 20-30/ 30-40 40-50 50-60 60-70 70-80
smoFess
f 5 4 6 9 7 4 3

P
ﬁwaé

4. Calculate Q,, Q,, Q, for the following data.
3NS wegozner Q,, Q,, Q03 FoRREOWO.
X 4 8 12 16 20 24 28 32
f o 4 9 17 40 53 37 24 16
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5. Explain the various methods of collecting primary data.
TR,BRT T oza’ﬁﬁoq lergtemeny az;asﬁeﬁd% DOR.

6. Calculate Karl Pearsons co-efficient of correlation for the following data.
B3 BYB0R TB0INON T2&° F LOINT A Te0 ABROWOTT r’omo%’as’a’g{ BOTIRCAD.

Age of Husband : 62 64 65 65 66 67 68 70
T30 TWosRD
Age of wife : 65 66 63 66 70 70 67 69

WO T[obRo
7. Explain the different types of classification of data.
TSY03NEY SNE BT AT wﬁﬁ#ﬁa@t QROA.

PART -C

Answer any 4 of the following. Each question carries 15 marks. (4%x15=60)
NS cIRPEaR 4 FINER YugdR. FEoSRomd BIr 15 wosnwd.

8. Calculate arithmetic mean, median and mode for the following data.
FINT T2 0BAYR ©oFNeds FTRO, W08 0 w&wﬁwﬁi FOTIOEEBOUD.

Marks 10-20 20-30 30-40 40-50 50-60 60-70 70-80
SRS

No.of students 42 38 100 84 48 36 31
DT, BN Hosd,

9. Calculate Fishe‘r Price Index for the following data and find whether it satisfies
the Time Revérsal Test and Factor Reversal Test.

593 SeR0Brent ¢ 0" TR0 136 AetaR, 08 B0 BT, T T &eRTTORERD TG,

02 38 LootTONIBOD aﬁ@@oﬁy&g{ SRTERIBI030E T [ QORVTIR) TOCR.

Base year Current year
ems a0 S | 323 e
Py 9% P; q,
A 2 20 5 15
B 4 4 8 5
C 1 10 5 12
D 5 5 10 6
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10. Estimate the straight line trend value for the year 2015 and 2016 and graph

11.

12.

13.

the trend values by using least square method.

é@'@; JRF VRRE S0ewE 2015 308 2016 T 20 Seam DR dﬁ@aﬁoﬂi 2003920

o)
TINE, dioda RO dg'@’@s@.
Year : 2008 2009 2010 2011 2012 2013
xR
Sales : 35 42 44 48 46 49
TR

Calculate Speérman’s Rank Correlation Coefficient.
Jjesviegnegennte T9,0%° ABAOWOTG MITDOB TOTZRCD.
Economics: 3 10 5 4 9 11 12 2 6
WBETD ‘
=4
Statistics : 5 7 6 11 8 4 3 9 1
RosTR,ZoR
:‘j

Explain the uses and limitations of statistics.
:J’ogs%sagd LUTOSRENNE 308 &méﬁ#ﬁ;{ VDR,

2014

51

7 8 1
2 12 10

The prices of shares of X and Y are as follows. Find out which share price is

more stable. .

X @0=8) Y Becony IS 83 39NT08T. odnmyms 33 w3 éaé% P?deﬂw’ QOUWITZ),
FOTBOLBCAD.

X . 3 54 52 53 56 58 52 50 51

Y : 108 107 105 105 106 107 4,104 103 104 101

tp‘!




